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Seat No.; Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-V/II <EXAMINATION-SUMMER - 2017

Subject Code: 3310101 Date: 05 - 06 -2017
Subject Name: Applied Physics
Time: 02:30 PM TO 05:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten. £2LHI2(l SEURL Alcloll orellel L. 14
1. State formula to find out least count of Vernier caliper.
1. dllaR s@udel dydi su Al ducls] YL @,
2. Define newton’s 3™ law of motion.
2. o2otall aUldell o2l Ra el
3. Define cohesive force and adhesive force
3. caluaALAAGA oa Ul A oo
4,  Define: 1 kilocalorie.
¥, vl 1 Bddadl
5. State superposition principle.
W Aduwdueusl Regld cul,
6.  Define Snell’s law.
. callull: el [an
7. State two application of nanotechnology.
9. dellesellcllepe(l d Guallollcizdl ¢ul,
8. State full form of LASER
¢.  AuRe) Y3 olH Wl
9.  State two example of surface tension.
¢.  Ywcllaell ol GelgRel cull.
10.  Give SI unit of following physical quantities. (1) work (2) power
0.  WAAUY. AsH cull: (1) st () sl
Q.2 (a)  Draw neat and clean diagram of Vernier caliper. 03
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ud. 2 () dllar 3Audedl sun AEastausll a2 vusld €12l 03
OR

(a) Draw neat and clean diagram of micrometer screw gauge. 03

@) wEsldle? g el sl REAtaws(l <20 2u3(Q €12 03

{b) If one object contains mass of 12 kg and force applied on it is 24 N then what 03
will be acceleration?

(o) %l 818 uelslo] €0 12 (3ol lat ol doll UR ¥ o2oie] GLOL GOl O3

alal dl A uetdell ydot st

OR
{b) Two forces Fy and F; acts on an object of mass 0.2 kg such that the forces are 03
along the same axis but opposite direction. Determine the acceleration of the
object if Fi1= 8N and F»=6N. Assume that object is on a frictionless surface
and can move only along X-axis.

(6)  02kg scailol Ypnddl did UR F; sl F 6l6l AMlel U] UR URq 03
Q36 oMl AUAR 52 B. %l Fi=8N sl F=6N &lal cll clrejell Yaal
altll, tRly uetd udgdlet Yyw uR & el d X- ulell Raunl %
ald 53l a3 8.

(c}  Explain positive error of Vemier caliper and micrometer screw gauge. 04
(5)  ablar AU ua weslle? 2 oyell ot 381 unxal. 0¥
OR
(¢} In an experiment of simple pendulam the time period of pendulam is 2.32 s, 04

2.31s,2.33 5, 2.30 s and 2.31 sec then find out percentage error in time
period of simple pendulum.

(5) ULEL clletsell Yallotl clletsoll vlaldsta 2.32 A, 2349 A, .33 A, 0¥
230 A Al 231 A D ol dlesall vlaldsioml yldad 3R 0.

(d Prove for uniformly accelerated motion v = u+atand d = ut + %atz 04
(d= displacement, v=final velocity, u=initial velocity, a= acceleration and t = time)
s) [a@d ydoll ald W2 v = urat Mol d = ut + %atz AUQA 53, 0¥
(2l d= Ulelicl?, v= wAH AL, u= YRS AL, a= YADL and t = UHRY)
OR
@ Define and explain law of conservation of momentum. 04
(5)  AdltHlel ARatetell [Aat clull el GeteeL Ul yHast el 0¥
Q.3 (a) There is a tube lying in a horizontal plane having a diameter of 2 cm, water 03

flows in a tube at the rate 10 cm/s. If viscosity of water is 0.01 CGS unit and
density of water is 1 CGS unit. Calculate Reynolds number.
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Ud. 3 () 2om claloll eyuial 10 cmss ol €2 wiell ag 8. sl wellsl 03
RaLotLell 0.01 CGS unit 8lal dtal WRlls(l tiotdll 1 CGS unit 8lat <l
20lles s el

OR

(@ Water rises up to 2.8 cm in a capillary tube of radius 0.052 cm immersed 03
vertically in water then find out surface tension of water. (g = 980 cm/s?)

) o.0ur A Aerauasll dastolla wellie Gt gousdl well 03
Jaloteflal 2.¢ Al GuR U@ & Al wlle Yoyl =2l (g=980
AHLAY

{b)  State effect of temperature and impurity on surface tension with example. 03

(o) cdluHiol Aal AYGell Yol Gur UUR Gelgel udl el 03

OR

{b) Explain Reynold’s number. 03

(o) dvlles vis umesdl 03

(¢}  Define conduction, convection and radiation with example. 04

(6) Gulagel, GuHlolalel wal GuHoHato{l ceuvel Geteel wdlal cvll. o

OR
(c)  Explain law of thermal conductivity. 04

(5) GuHL déetisell Rad aHasel. 0¥

(d) Define strain and explain its types. 04

(s) [AsQoll cattvaul cull ual dell Ystz unosdl. 0¥

OR
(d) Define Hooke’s law and explain its moduli. 04
() gsoll Ml cul ol dott RA[RUUSUS uxAal. 0¥
Q4 (a)  State difference between longitudinal and transverse wave. 03
Ysl. ¥ () AUOld 29l el clodlel dRoL ol dsleld cul. 03
OR
(a) Calculate wavelength of sound wave whose frequency is 440 Hz and its 03
velocity in air is 330 m/s.

L) ¥¥0 &3 YA wal seunl 330 H{l/A oll Aot bRl tall d2olell 03
ool ekl

{b)  Explain dispersion of light by prism with neat and clean diagram. 04
(o) 2 wsld €13 Aod el ysiale] [Qeweset daeadl, 0¥
OR
(b)  Explain spontaneous and stimulated emission of LASER. 04
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() AURe} deatdls U Galid Gtrat Axxdl. 0¥
(c)  Explain factor affecting reverberation time and acoustics of building. 07
(5)  ulels e el AsRElsU s OISl AU 52l uRual 09
Al
Q.5 (a)  State properties and applications of LASER. 04
usl U () Aol 2Rl Ael Gurlloll el 0¥

(b) A steel rod has radius R = 9.5 X10 m and length L= 0.81m. A 62 KN force 04
F stretches it along its length. What are the stress on the rod and strain of the
road? (Given Young’s modulus for steel = 2 X 10''N/m?)

() 9.5X10% m Bosall R Aol 0.81m clolls tLcledl Wletell wldaw w2 62 0¥
KN of ool F ciodleSe{l (@ aumi watel Glell 53 8. ol 2lol Mlsydd Wlad
HIZ 2X 10'N/m2 el ol alilaw ur usdl yldom ual aldausdl

CEIGENNE
(©)  Draw neat and clean diagram of He-Ne LASER. 03
(5) He-Ne AuR0{l sttt A€ astauell et 2us(d €12l 03
{d)  Explain construction of optical fiber. 03
(s)  WORse stSue{l 2uell UMl 03

ek st s sfe sk sk sfe s ook sk
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